Correlation Notes 

Suppose we found the age and weight of a sample of 10 adults, create a scatterplot of the data below. 

Is there any relationship between the age and weight of these adults?
	Age
	24
	30
	41
	28
	50
	46
	49
	35
	20
	39

	Wt
	256
	124
	320
	185
	158
	129
	103
	196
	110
	130


Suppose we found the height and weight of a sample of 10 adults.  Create a scatterplot of the data below. 

Is there any relationship between the height and weight of these adults? Is it positive or negative?  Weak or strong?
	Ht
	74
	65
	77
	72
	68
	60
	62
	73
	61
	64

	Wt
	256
	124
	320
	185
	158
	129
	103
	196
	110
	130


Identify as having a positive association, a negative association, or no association.

1. Heights of mothers & heights of their adult daughters

2. Age of a car in years and its current value

3. Weight of a person and calories consumed

4. Height of a person and the person’s birth month

5. Number of hours spent in safety training and the number of accidents that occur

Correlation Coefficient (r)-   
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	Speed Limit 

(mph)
	55
	50
	45
	40
	30
	20

	Avg. # of accidents (weekly)
	28
	25
	21
	17
	11
	6


Calculate r.  Interpret r in context.

Properties of r
LSRL Notes
Bivariate Data –
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Least Squares Regression Line (LSRL) –



The ages (in months) and heights (in inches) of seven children are given.

x  
16
24
42
60
75
102
120


y  
24
30
35
40
48
56
60

Find the LSRL. 

Interpret the slope and correlation coefficient in the context of the problem.

Predict the height of a child who is 4.5 years old.

Predict the height of someone who is 20 years old.

Extrapolation-
The following statistics are found for the variables posted speed limit and the average number of accidents.
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Find the LSRL & predict the number of accidents for a posted speed limit of 50 mph.

Interpretations:


Slope: For each unit increase in x, there is an approximate increase/decrease of b in y.


Correlation coefficient: There is a direction, strength, type of association between x and y.
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